RACE 1	Val+ 2140	RANK
	Volt <b>2140</b>	

Only ranking. A: 9

B: **11-6-4-8-7-10-12-1-2-3** 

C: **5-13** 

Top 4: 9-11-6-4

#### Quinella:

Horses: 4, 6, 11 U-Horses: 9

Total:  $3 \times 40 = 120$ 

#### Trifecta:

1:9

2: 4, 6, 8, 11

3: 4, 6, 7, 8, 10, 11 **Total: 20 x 2 = 40** 

## RACE 2 Volt 2140 RANK

Only ranking. A: **1-5-7** 

B: **4-3-6** 

C: **2** 

## Top 4: **1-5-7-4**

#### Quinella:

Horses: 1, 5, 7 U-Horses:

Total:  $3 \times 40 = 120$ 

#### Trifecta:

1: 1, 5, 7

2: 1, 5, 7

3: 1, 3, 4, 5, 6, 7

Total: 24 x 2 = 48

RACE 3	Volt <b>2140</b>	RANK
	VOIL <b>2170</b>	

Only ranking.

A: **2** 

B: **9-3-10-8-13-12-7** 

C: **5-11-6-1-4** 

Top 4: **2-9-3-10** 

#### Quinella:

Horses: 3, 9, 10 U-Horses: 2

Total:  $3 \times 40 = 120$ 

#### Trifecta:

1:2

2: 3, 9, 10

3: 3, 8, 9, 10, 12, 13 **Total: 15 x 2 = 30** 

# Bergsåker

### Tuesday, April 01



**RACE 4 V64-1** Volt **2140 RANK** 

**1 Diablo** has won easily every time and has improved a lot lately. From lane one he should be able to take the lead and from there he is the horse to beat, even if he faces some good horses. **4 Aberama Gold** tried the V75 in the last race but never got a real chance. Had energy left and looked very nice. **6 Zaxton** was interfered in the last race but looked very nice both before and during the race. He should reach a nice position early on. **7 Kalle Taxam** is in good shape.

A: **1** 

B: **4-6-7** 

C: **5-2-8-3** 

Top 4: **1-4-6-7** 

Quinella:

Horses: 4, 6 U-Horses: 1

Total:  $2 \times 100 = 200$ 

Trifecta:

1:1

2:4,6

3: 4, 5, 6, 7

Total: 6 x 2 = 12

**RACE 5 V64-2** Volt **2140 RANK** 

**5 Sancho Lee** is developing well and started on Wednesday. The gelding finished second in a good way and faces very nice conditions here. If he handles the tight starts, he should have the best chance to win. **11 Jagger Mearas** is making his seasonal debut. He should be able to reach a good position from here. **15 Don't Get Closer** has a tricky draw but is going down in class. **1 Prince C.** starts tight and could certainly lead the race for a long time.

A:

B: 5-11-15-1-14-2-7-8

C: 9-10-6-12-13-4-3

Top 4: **5-11-15-1** 

Quinella:

Horses: 1, 11, 14, 15

U-Horses: 5

Total:  $4 \times 40 = 160$ 

Trifecta:

1:5

2: 1, 11, 14, 15

3: 1, 2, 11, 14, 15

Total: 16 x 2 = 32

# Bergsåker

### Tuesday, April 01



RACE 6

V64-3

Volt **1640** 

**RANK** 

**13 Dilemma** finished well a bit behind the leader. Barefoot is a big plus and despite this 20 meter handicap he should have the best chance of winning. Needs some racing luck though. **12 Governor Godiva** did well from outside the leader in the last race and he prefers to run in the lead. He stands out as one of the best horses in an open race. **1 Ontario Bro** prefers to run in the front. **8 You To Ezme** is good for this class.

A: **13-12** 

B: 1-8-7-6-3-4-10

C: **5-9-2-11** 

Top 4: **13-12-1-8** 

Quinella:

Horses: 1, 8, 12 U-Horses: 13

Total:  $3 \times 40 = 120$ 

Trifecta:

1: 13 2: 1, 8, 12

3: 1, 3, 6, 7, 8, 12

Total: 15 x 2 = 30

RACE 7

V64-4

Volt **1640** 

**RANK** 

**9 Teknologen** did not trot well in the last start and has been treated after that. He made it to the final of the Swedish Derby last year and won in the V75 on Christmas Day. Our winner. **7 Kleppe Varden** is up and down and got defeated after a good trip in the last race. He is working well and should be considered early. **14 Guli Em** failed last time but is good when he lives up to his capacity. **13 Rams Bror** is an early contender if he is at his best.

A:

B: 9-7-14-13-15-2-4-11-12

C: 6-5-8-3-10-1

Top 4: 9-7-14-13

Quinella:

Horses: 7, 13, 14, 15

U-Horses: 9

Total:  $4 \times 40 = 160$ 

Trifecta:

1:9

2: 7, 13, 14, 15

3: 2, 4, 7, 13, 14, 15

Total: 20 x 2 = 40



**RACE 8 V64-5** Auto 2140 **RANK** 

**2 Lookin At Lucky** disappointed in the last race and was not at his best. He will run barefoot and with an American bike for the first time. He is a quick starter and will not be easy to beat from the front. **5 Andragathos** makes his seasonal debut and is perhaps the horse with the best capacity. Might need this race, but has good capacity and is an early choice. **6 Skorpan Ruda** has not raced for a long time. He competed well as a 3-year-old and is a really quick starter. **4 Nemesis Diva** does not win often.

A: **2-5** 

B: 6-4

C: 10-8-3-11-1-7-12-9

Top 4: 2-5-6-4

Quinella:

Horses: 5, 6 U-Horses: 2

Total: 2 x 100 = 200

Trifecta:

1:2,5

2: 2, 5, 6

3: 2, 4, 5, 6, 10

Total: 12 x 2 = 24

**RACE 9 V64-6** Volt 2140 **RANK** 

**5 Kashmir B.** has made two starts for Katja Melkko after not racing for almost two years. The five-year-old has only made six starts and is improving for every race. Good chance. **8 Sweet Candyman** is strong and has good capacity. Can do it tough. **2 D.J.Lovecash** scored a strong victory but is easily stressed. **9 Howtobehave W.F.** has not won yet but is getting closer to a win.

A: **5** 

B: 8-2-9-4-11

C: 12-7-3-10-14-1-13-6

Top 4: 5-8-2-9

Quinella:

Horses: 2, 4, 8, 9 U-Horses: 5

Total:  $4 \times 40 = 160$ 

Trifecta:

1:5

2: 2, 4, 8, 9, 11

3: 2, 4, 8, 9, 11

Total: 20 x 2 = 40

RACE 10	V3-3	Volt <b>2140</b>	RANK

Only ranking.

A: **2-3-5** 

B: **1-4** 

C:

Top 4:2-3-5-1

#### Quinella:

Horses: 2, 3, 5 U-Horses:

Total:  $3 \times 50 = 150$ 

#### Trifecta:

1: 2, 3, 5

2: 2, 3, 5

3: 1, 2, 3, 4, 5

Total: 18 x 2 = 36